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~__PHYSICS | 8
IS5 A hght bulb 1S connected in series
with a battery, a switch and some
wires. However, the light bulb does
not light up. What is/are the
possible reason(s)?

A. The battery is weak:

B. The switchis closed

C. The bulb has blown

D. The ?nx\es are made of copper.
(a) A only.

(b) Avand C only

(¢) B and D only

(d) B,CandDonly

‘; 1“:% Max. Marks : 50

below.

Steel wire Silver spoon
key Gold coin

Brass button Copper plate
Thumbtack Safety pin

Which of the above have been wrongly
classified?

(a) Key and copper plate

(b) Thumbtack and safety pin
(c) Steel wire and silver spoon
(d) Brass button and safety pin
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(a) They use the
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' PHYSICS 3. (b) Objects.made of a material that
1. (b) Bulbwill not light up if sufficient i;i?]gi)iogdhior&%ui?é (iffllﬁdﬁﬁg
current 1s not provided connected to the circuit. Thus, (A)

2. (d) The table classifies objects
according to whether they are
made of magnetic materials.

and (C) are good electrical
conductors. (B) and (D) are
electrical insulators. An insulator

Materials that can be attracted
by a magnet are known+«as
magnetic materials. Iron,

does not allow electricity to flow
through. Therefore, there is an
open circuit and the bulb will not
light up.

nickel, cobalt and steel Are
magnetic materials. "\Brass
button is made of nen*magnetic
material and it is thie 6bject that 5
has been wrengly classified. g
Steel wire ig'made of magnetic
material. 'and is correctly 7%,
classified. Thumbtack and key
are uStrally made of magnetic
material such as iron or steel
‘and are correctly classified.
Silver spoon, gold coin and
copper plate are made of non-
magnetic material and are
correctly classified. Safety pin 1s 3.

4. (d) Length of a curved line can be
measured with the help of a
thread and a meter scale.

(b) A—(r); B> (p); C—(q); D—(s)

(d) Muscular force is the example
of Contact force.

(d) A shadow is an area of darkness
and it is formed when an object
blocks the path of light. For this
question, the apple does not
allow light to pass through it,
which results in the formation
of its shadow on the screen. It
also demonstrates that light

travels in a straight line.
(b) The speed of light (3 x 108 m/s) is

usually made of magnetic more than speed of sound 332 m/
material and has been wrongly s in air. So, we can see lightning
classified. Therefore the answer before we hear thunder.

is option (d).
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9. (a) The swinging pendulum of a

- wall clock performs both

oscillatory and periodic motion.

(a) Th , attraction is maximum

~ near magnetic poles.

11. (a) When pure water was used, the
bulb did not light up. This shows
that pure water does not allow
electricity to pass through it.

12. (e) A source of light, an opaque
obstacle and screen behind the

obstacle are necessary for
shadow formation.

13. (a) Switch completes the circuit but
does not act as a source of
current

14. (a) Magnetic strength is equal at
both the poles.
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15. (¢) Cotton is obtained from plant.
16. (a) Saturated solution

17. (e) Plastic is water resistant.and
bad conductor of 'heat and
electricity. Pliers have plastic
handles so that they do not
conduct electricity and are safe
to use.

18. (a) No new substance is formed on

melting.of coaltar.
19. (d) Disposable cup has lower
density than water therefore it

floats on water.

20. (b) In chemical change molecules
of substance undergo change
and new substances are formed.

21. (a) Eggs will rotten to give foul
smell. Bottle will remain the
same whereas moth balls will
sublime which is a physwal

change.

Hints & Explanationg

22. (b) In statement (i) state ig
changed whereas in statement
(ii) new products are formed as
a result of ignition.

23. (¢) Nitrogen neither burns nor
supports combustion. The gas
controls burning in atmosphere.

24. (b) Asonegoesupinthe atmosphere,
the amount of oxygen in air
decreases.

25. (a) Aquatic plants anid ahimals use
the oxygen dissolved in water
to breathe.

26. (c) The partilahelled W has to be
made of waterproof material so
as to keep water away when the
umbrella is used in the rain.
Plastic will be an ideal choice
for making W. The part labelled
X should be made of a strong
material. Wood can absorb
water and get wet, causingit to
rot. Metal will be a better choice
for making X. For making Y,
wood will be a better choice
than metal as metal is a good
conductor of electricity and it
can be dangerous during
thunderstorms.

27. (b) A brittle material is one that
can break easily upon impact.
In this question, the property of
brittleness is shown by the
glass as it broke into smaller
pieces when dropped on the
floor.

28. (b) To hold 10L of water, the
material must be strong.
Materials P and Q satisfy this
requirement. However, the
material has to be wate
also so that it can hold water.
Thus, Ravi should chooseé
material Q and not material P.
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1. (b) ﬂmﬁs required to change the
R ‘“m’ﬁeafwaterﬁnmhqmdtogas
When water evaporates from
the elephant’s skin, heat from
the elephant’s body is used to
change water into water
vapour. This cools down the
body of the elephant as heat is
removed durmg thlS process.
32. (b) As the bee lands on the petal to

drink the nectar from within

the flower or to collect, pollen,

the stamen which lrangs'down

from the top tran rs pollen
1s pollen
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. :;; er ﬂower when
its it. This process is
n, the transfer of

ins from the anther to

33. (b) Man—made materials such as
plastics are usually non-
biodegradable. In other words,
they do not decay easily. We
may bury them but because
they do not break down easily,
they will remain in the soil for
‘very long time. Thus, this

4

consists of xylem andphloem
é‘wg are tubes that transport
ter and food in plants.
35.4€) The bird, kiwi is found in New
\. Zealand. '

Its body is too heavy to fly. It is
because the flight muscles
cannot support the body weight
when it flies.

36. (b) Paneer is made by this process
this is called curdling of milk.
Here, the milk protein
separates out from the fat.

37. (d) Cuscuta is a parasitic plant
because it gets its nutrition
from another living plants

38. (a) Zooplanktons are mlcroscoplc
organisms found in water
bodies. They are good nutritional
source for aquatic animals.

39. (b) Haemoglobin of blood is a
compound ofiron.

40. (a) An annual plant complete

life cycle vnthm one year




main product.
50. (b) We should
leaves becau:

raw mate
used to
of






